
Answer on Question #81530, Math / Statistics and Probability 

A class contains a total of 8 female students and 12 male students. Four students are 

selected to serve in a committee. 

(a) Find the probability that exactly two female students are serving in this committee. 

(b) Find the probability that at least one male student is serving in this committee. 

 

 

Solution 

The total number of possible outcomes is 
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(b) The event is opposite to the event that there are no male students in the committee: 

P({at least one male student})=1-P({no male students}) 

If there are no male students all students are female – there are  
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Then  
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